Advanced Algebra — Chapters 5 and 6 Review
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10.

11.

Write the following expression as a complex 6. L{ + L

number in standard form: (7 — 2i) + (3 + 3/)

T

Write the following expressian-asa-complex 7. !(.a + ” L

number in standard form: (3 — 2i)(2 + 5i)
=~
l+15c-Yi—10L°
L.—,_—J

o + L = )OG)
L+l +10

T+t
Factor the following expression completely: 8. 2 (Sx + l)(;?x — I)
20x° — 6x — 2 Facron:
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2(' DXQ - 3 < — | > (D Look - Per‘F;(:l- sguaves
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Factor the follo%g expression completely: 9. (L/x +9 B(L/ X = 9>

@2—@ PcV'FeC"- %uavej
(!‘{x+q>("/)< —Cf)

Factor the following expression completely: 10. (? wt+ 3 )( w- | )

70 —4u-3
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A model for Kloefkorn Construction’s 11. Perice: /O Ptr +ewm

revenue is R = —15p? + 300p + 12000,

& L
where p is the price in dollars of the company’s Maximum revenue: /3,S00

product. What price willmaximizg the
revenue? What will be the qnaximum revenue?
- 300 _ 4z20n _ 30_
X = 20-18) 435‘ - 3‘

R= - 15(15) "+ 360(10) + I2000

~JSDO + 36006 4+ [26006 price
R |
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12. The equation for the motion of a projectile 12. Time: A _Secownds
fired straight up at an initial velocity of 64 ft/sec
is h = =16 + 64t, where h is the height in feet Height: [, 4 £,
and tis the time in seconds. Find the time the

projectile needs to reach itg highest point. How) \/
highowill it go?

22
X= ~3%;‘%®; %=@ lieub\4
NOBETOERTES

= =IL{u) + 12p
= =LY + 19
- LY

13. From 1990 to 1996, the consumption of 13. Year: I 9 C( A

poultry per capita is modeled by
y =-0.2125f + 2.615t + 56.33, where t = 0

orresponds to 1990. During what year
was the consumption of poultry per capita at
a er capita?

%/: —alast s 2015+ +£6.33 Jc‘—ﬂ-“ﬁ L= 1014
- - L

~ oy afF4e- 1990 ~ |o yrs. af +e- 1990
(393 S
Solve Fo— £ &—/> ¥
-- Use @U\aj J:m-ww‘la No+ et een
- . " 1990 —)99(,
N L —— Use Cale. +o Find ™ Zevos”

Find the vertex of the quadratic function and explain how you found it. Identify the axis of symmetry.
Identify the y-intercept. Then graph the quadratic function.

(2,64)

_’_’fw\-e

Oz —21a5t + 261S+ — 4. L7

xX= - z & =
14.  y=4x*+8x—45 ETC) Graph: Y= -
y= YN tag-0)-4¢
Vertex: (‘ | .- ‘M> = ‘I‘&’_'??_‘q‘_'r‘_ 1
== it “ulgs +
2o -y
How dig you figure out the vertex? 56
X==mx. This is 4he X-COOVJ-’V\A-{-Q Ho+
3O+
b‘F +he \/cr+c><- TLZH‘ 51,113.54-.'4.‘,\4_6 20t
104+
dhe "X into the cguation v Find the e R —————+—+
)"Lueh&iv\o\-l-o_ o +Hhe Ve riex -5 et S
Axis of symmetry: = —| N TS
3o 4
y-intercept: (D\‘”—{ S') “fol
: -5
Pl":j 0 'n o x. 1

-33
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15.

16.

17.

18.

19.

List all possible rational zeros of the function

fix) £ 5%° + 2x° + 16x@ Do not find the zeros.

P
x| £33+ 9

P.
Cliarco—

)

3 ToTAL ZEROS
Solve the élﬁ@@lng equation, giving exact
answers: 2x* = 10x + 20 = 0.

4 2 9
15,X:i’\t§)i‘?\i‘ s ¥r¢ =

6. X = 2 =*lio

Checle: ‘-‘N,\'-tz, '—'—Ll)

2 | -le 2D T tioT2o
l 2 (o) -a06 —-\g-
+10
-0 )
. 0. 5 & o
x = £{Td

Solve the following equation, giving exact
answers: x* + 3_x'zb= 10.

x4+ IxT- 10 =0

<>< - Q\)Cx "’\ 5)=0
X -2 [e) x‘-&—S:D
[x*=2 Ix =S

x==*{2 x= x5

Write a polynomial function in standard form
that has zeros of 4, -2, and 0. Classify the

polynomial by Ws and degree.
xX-4 + =
X(x= (x4 2)

><(><1+,2><—le—z>§
(x*>—2ax=g)

><3_ Qxl— K

Describe the end behavior of the function

f(x) @@ 5x° + 9x — 10 by filling in the blanks.

OBD Nequdive

Also, use your graphing calculator to find the
relative maximum(s) and minimum(s).

Ad’Jus—l Yor W Ao .
rK

Min = N

“MAX

7. X=*[a s

>

18. Standard

form: - 2)< QX
C ubic

Name by S
number of terms: \ vV innDWmia [

Name by degree:

19. limf(x)= O UP

xX—>—0

limfx)= — 2 Down

X—>+0

Relative maximum(s) ( <31 , 12.8;2>

Relative minimum(s) (— O.LE N ~/3.19 >
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T2 139
20.  Divide (x* + 2x3 = 3x = 1) + (x + 4) 20. X = + ¥x-35 + %44
by synthetic division.

-4\l 2 6 -3 -~
\){-q £ -32 140

3 & -35[134
2 8 CL_J

x X X

21.

< + 2
— 2 =

Divide (5x* + 14x> + 9x) + (X* + 3x + 1). 21. 5% X — At T+ 3% |
by long division. Gy _ < -2
X+ 3x+ | (\?\>(<"+Hx3+oxz+qmo
+(ex’ 15,3 T5x2) J

- xz-Sx;+q>( v

v (413 + 357 4 x )

T+ 10x+0O

+EDE + bx +2)

. lGx + 2
22. Three of the roots of a polynomial are 4, -3i,

and 2 - ﬁ What are all of the roots of this

22. Roots: qu gt‘j\gé\g'ﬁ

417
polynomial? Explain. Explanation:
><z= -9 Iw\aq.'no.v-y 12004— ] L\ZDrew
==|-q - '
X = 131.

(,(V\vq Ir—r‘a\-l—lohnl [Zao+Tl'\gorew\...

Solvihq a GMRJVR'F;C q/ief a pos.4ive
J V42 =4 T

ond a v\eja-l-ive cow\'@]cx #. Same

Uitk irvatione] #Fs

23. Find the zeros and multiplicity of zeros of the

23. Zeros: X =0 X = 3
following function: f(x) = 2x° — 12x* + 18x°.

o?xz(x;— lox + O!\>

st (>< -2 B(X —33
L (< =3)
X=0
w\uul+;f;| iy 3

(f

N \
5 Multiplicities: Muk-d 2  Mul . of 2

O

\l

X=3
ha [-H'Plft. /*f/ 2
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